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1.中学入試の計算問題vol.2(3問目)

(1)
参考元の問題：攻玉社中学校２０１６年１（１）
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2.中学入試の計算問題vol.2(3問目)

(1)
2

3
÷ 2

6

7
+

{
17

33
−
(
1
1

2
− 5

6

)
÷
(
0.75 + 2

11

12

)}
=

(2)
3

4
÷ 1

2

7
+

{
1
1

2
−
(
2
1

6
− 1

2

)
÷
(
0.625 + 1

1

24

)}
=

(3)
2

3
÷ 1

3

5
+

{
2

7

12
−
(
3
1

6
− 2

3

)
÷

(
0.25 + 1

5

8

)}
=

(4)
7

9
÷ 1

1

9
+

{
1

8

45
−
(
1
1

6
− 1

2

)
÷

(
0.5 + 1

9

10

)}
=

(5)
4

7
÷ 1

1

7
+

{
31

35
−
(
1

5

12
− 2

3

)
÷

(
0.5 + 2

1

8

)}
=

(6)
1

9
÷ 1

2

3
+

{
2

5

42
−
(
1

3

10
− 1

2

)
÷

(
0.875 + 1

37

40

)}
=



http://kaminodrill.sakura.ne.jp/ 　み-453511434

c⃝かみのドリル http://kaminodrill.sakura.ne.jp/

3.中学入試の計算問題vol.2(3問目)
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4.中学入試の計算問題vol.2(3問目)
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5.中学入試の計算問題vol.2(3問目)
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